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@D a®—7a & a*+2a

fl 7=
@ a*—5a+6 & —a*+1

il 7=
® 7a+2b+5 & 3a+6b—1

i =
@ 2x*—Tx & —2x*—3x

fl 7=
® b5x—6y & 6x—Ty

fl 7=

©® a*+a+2 & —2a*—5a+2
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@ x*+4 & 5x*+7x+7

7
6a+7 & 4da—Th—6

7=
© 4x+7y & —4x—5y

7=

Al

7a+2b—1 & —7a—5b—3
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@D a*—T7a & a®+2a

(a*—7a)+(a*+2a) = a*—Ta+a’+2a

(a*—7a)—(a*+2a) = a*—Ta—a*—2a

F1 2a*—5a 7= —9a

@ a*—5a+6 & —a*+1

(a®?—5a+6)+(—a*+1) = a*—5a+6—a*+1

(a*—5a+6) — (—a*+1) = a*—5a+6+a*—1

pil —5a+7 = 2a*—5a+5

® 7a+2b+5 & 3a+6b—1

(7a+2b+5)+(Ba+6b—1) = Ta+2b+5+3a+6b—1

(7a+2b+5) — (3a+6b—1) = 7Ta+2b+5—3a—6b+1

i 10a+8b+4 7= 4a—4b+6

@ 2x*—Tx & —2x*—3x

(2x?—=Tx)+(—2x2—3x) = 2x*—Tx—2x*—3x

(222 —Tx) — (—2x*—3x) = 2x*— Tx+2x*+3x

fl —10x = 4x? —4x

® bx—6y L 6x—Ty
(5x—6y)+(6x—7y) = 5x—6y+6x— Ty

(5x—6y) — (6x—"T7y) = 5x—6y—6x+7y

1 11x—13y S —x+y

® a*+a+2 & —2a>—5a+2

(a*+a+2)+(—2a*—5a+2) = a®*+a+2—2a*—5a+2

(a*+a+2) — (—2a*—5a+2) = a*+a+2+2a*+5a—2

f —a?—4q+4 b 3a*+6a

@ x*4+4 & 5x%4+Tx+7

(x*+4)+(B5x*+7x+7) = X°+4+5x*+Tx+7

(x*+4) — (5x*+7x+7) = x*+4—5x*—Tx—7

bl 6x%*+7x+11 7 —4x*—Tx—3

6a+7 & 4a—7b—6

(6a+7)+(4a—7b—6) = 6a+7+4a—7b—6

(6a+7)—(4a—7b—6) = 6a+7—4a+7b+6

il 10a—7b+1 7= 2a+7b+13

© 4x+7y & —4x—5y
(4x+7y)+(—4x—>5y) = dx+Ty—4x—5y

(4x+7y) — (—4x—5y) = dx+7y+4x+5y

Zill 2y 7=

8x+12y

Ta+2b—1 & —7a—5b—3

(7a+2b—1)+(—7a—5b—3) = Ta+2b—1—T7a—5b—3

(7Ta+2b—1)—(—=7a—5b—3) = Ta+2b—1+7a+5b+3

i —3b—4 = 14a+7b+2




